MAT2705-01/04 035 Quiz 3 Print Name (Last. I'irst) o ___ - Li |0

Shew all work. including mental steps. in a clearly organized way that speaks for itself. Use proper
mathematical notation. identifving expressions by their proper symbols (introducing them if necessary),
and use arrows and cqual signs when appropriate. Always simplity expressions. BOX tinal short
answers, LABEL parts of problem,

Last centuny people liked 1o think «q {0% average annual retum oo investment was
a good number:  Solve the following I¥E  for the amount AlX) iy theusands of
dollars of a retirement investment of o worker whose starting salany is BD'HnOusqnci .
eks\kars and, + is the number of years worke d ; dunhg which the cala S(‘E) =30 e
\rereases af o Coamueus) aonud) vale of 6% while 12645 put imip the ehrement funds
105t First express A(40) | Fhe rehrement
%% B OJQ(ZO) < * OloA Vﬂ‘l::*oﬂ:r 4?9&1?'5) -.'«-f dollars and cents
Aloy=0 Yo the peorest cent, ard then round to
2 significant figures.
EXIRA COEDIT . solve Hhi Prvb\ern with the dsslue +CV1PIC(+‘C and evaluale A (40) for_l
Aok edmcrdi. emall me. the worlesheet with webratl b clain the credit
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Aany = 12 (e 1-e?®) = 2395054763 (thousand dollars)
— Tl\ § 3,299,054,77¢ | to neorest dsllact cent
— | B 3400,000.00! ‘o 3spnificat digs

B 2.4 million dollars  (sheat ‘.ﬂﬂauagc)



